sbezout



	Purpose
	Computes the symbolic Bezout matrix.



	Syntax
	sbezout(A,B,s) 

SB = sbezout(A,B,Q) 



	Description
	SB = sbezout(A,B,Q) Compute the symbolic Bezout matrix of  the polynomial a and the polynomial B. A second argument Q may be specified in which variable are polynomials B and A.



	Examples
	Given continuos polynomials a and b

>> syms s a0 a1 a2 a3 b0 b1 b2 b3;

>> A = a3 + a2*s + a1*s^2 + a0*s^3;B = b3 + b2*s + b1*s^2 + b0*s^3;

>> SB = sbezout(A,B,s)

SB =

  a2*b3-a3*b2,       a1*b3-a3*b1,       a0*b3-a3*b0

  a1*b3-a3*b1, a0*b3-a3*b0+a1*b2-a2*b1, a0*b2-a2*b0

  a0*b3-a3*b0,       a0*b2-a2*b0,       a0*b1-a1*b0

Given discrete polynomials a and b
>> syms z a0 a1 a2 a3 b0 b1 b2 b3;

>> A = a3 + a2*z + a1*z^2 + a0*z^3;B = b3 + b2*z + b1*z^2 + b0*z^3;

>> SB = sbezout(A,B,z)

SB =

  a2*b3-a3*b2,       a1*b3-a3*b1,       a0*b3-a3*b0

  a1*b3-a3*b1, a0*b3-a3*b0+a1*b2-a2*b1, a0*b2-a2*b0

  a0*b3-a3*b0,       a0*b2-a2*b0,       a0*b1-a1*b0



	See also
	bezout
	computes the Bezout matrix
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